EARAROBEEIERT — 2 N— IBISH —F

2018547168 (B) 1EIAH#1H

mﬂﬁ%—ﬂﬁ c1—= B IR
[A&4£] 1 7% :1,200,000 @ ~ 2 7 :480,000 @ . 33 :300,000  ~ 4 3#:180,000 @ . 5 7 :120,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= # 5 | AEAH 1:43.7 7-4-3-3 | 40.7| — 4 491 | PEEZ (KFH)
i 15l10| 7=F1 54.0 o o | ) mwass
R:T7Ta743IVF—- B:3/UH-U— BRNAHKS
S, P 5B 144, —1-1- . — TESRISHD (Z\bk)
2 AAST S a1 H 5 N0 1(451)3 2-1-1-1 | 41.3 1 (4_875) %Eﬁ% 4
L:xrindaO— B:N—hr70x0F1 =R %5
EIHEER 144, —~5-5- . - dHE ()
3l1|o| X704 - [ IR R 2o |
ReixAavtnayy Bz /L14Fzlb AR
. SEFRER : -10-8- — AfREFEZ (KH)
4 5| Y ¥I—=2X 4 5 7 1;11:? 11-10-8-9 | 41.2 11 :3:)50) el
LIV INATA—h— BVTTIN—a ENHUS
. o j 5 | WIEFERK 1:44.6 15-15-13-12| 40.6 | — 10 | 457 |#AEX (1)
sl g | HH—X 54.0 (74 Cry |
R:TA—T4FAF—XH> B:v—~"F20-X R4S
. o o7 | BEARE 1:44.9 8-8-7-7 |41.5| — 14 | 477 | FILBSE (1K)
618115 EI—-ILRAH X 56.0 (1 3/4) *+2) THER=
R:BALINT Ry 7R B:v~v/E—FZ iArizve]
> N 4t 5 | FARA 1:45.0 13-13-11-10| 41.2 | — 3 498 | FERICH (/\iA)
]4 X?'J1—7~'f/\— 56.0 (7€) 2 ) 7975 77—4
R:TT9IEAF BiehLbIEC A IVT5 77— L
-« — iEZ N : -9—10- — BHEE (KH)
gl1l1|Yavz>7)—-% AR (}ﬁ? FeIoe 418 ° ;‘ff; (EBAE
Z:nNd B:apFH—iv iREse]
S N LHEfEA 145, —-16-16- . — #EME (KH)
olslglvotrsey o4 e 1(425)4 16-16-16-16| 40.9 16 ;1+817) =
LTANMWNTTFY— BV —ITIALA K- HR& KMEXT-T
o i .45, _14-15— . — IEA=mE (KH)
X ER— S B 5 s 1(415)6 14-14-15-15| 41.3 8 (4_512) it
Ri*xfavkh-5— B:4-E-V-> Skt e
- = P 5. oo 9 — BANS ()
5% =15 w4 | Em 7 T Al A B I P i
RN=—HINK BNA<—7 b e
N . . B . . _ AKE
7YTI—IT # 5 ;‘jg%Lﬁ 1(}@? 5-7-6-5 | 42.9 7 | 503 ggréz (K3)
LHGRT TR B4 TO L R P e
« — # : -12-14- — 5 i
Ly K717 i 4 ;E_E%i 1.(456).9 10-12-14-14| 42.7 15 | 402 E%; & (RH)
RRFAT—IF BTIYREL—F1— C18) | zms
T4 YT A #H 6 mlft?)éﬁi 1(;14/72.>o 3-3-4-6 |44.0| — 5 497 g@égi (J111e5)
RivPNyBHhTT BI—YNE5%Y (-3) SIS
; B4 | AIER 1:47.3 3-6-9-13 | 44.3| — 13 | 457 |EEES (KH)
1507 13| 7 7V A 54.0 (1172 o |ErER
40 BANF4TH—TIN— milll &Rl
SX S,k — B 4 | REEHE— 1:47.5 12-11-11-11{ 43.9 | — 12 | 452 |WRE (KH)
160714 T XS ¥ K= 54.0 3/4) Ca |RUEST
R—FHITIL BiA YNy 21— e
® I —F—@EBIERL
1a—74— 6,7,(11,13),16,2,10,15,1,3,5,14,4,12,8,9
Aol=5r= (6,7),11,10,2,13,16,15,1,5,14,3,4,12,8,9
G§a=7r= 7,6,10,11,2,16,15,5,13,1,(4,14) ,8,3,12,9
4=1=Ch— 7,6,10,2,16,11,15,1,5,4,14,8,13,3,12,9
[ RN
B OB 10 660 714K 7-10 390M e & 4-5 880M &R 2-7-10 1,760M
% B 10 170H 2-10 500/ | | # B 5-4 2,570 | | 3EE 10-7-2 11,810
7 120/ 2-7 330M B E 7-10 930
2 1609 B H 10-7 2,400M

ABICOVWTRDTEEERROODE. TR LIV,




